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COMMON ENTRANCE EXAMINATION AT 11+

MATHEMATICS

MARK SCHEME

This is a suggested, not a prescriptive, mark scheme.

Monday 6 November 2017

M: 1 means 1 mark for the correct method.
A: 2 means 2 marks for the correct answer.
Some of the answers are worth 2 marks.

Award M: 1 A: 1 unless otherwise stated.
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Q. Answer Mark Addm
@) | 221 1At
i) |12 1 A1
(i) | 980 1 A1
(i\V) £16 1 A:1
(v) | 1252 1 AT
(vi) 104 1 A: 1
(vii) 2345 1 A: 1
(viii) 1300 1 A:1
2. () |6 1 A1
i) |50 1 A1 ]
(iii) LXV 2 M: 1 for 65 seen
A:1
3. (i) 15 1 A:1
Gy |1 1 A: 1
(iii) 50 and 57 1 A: 1 both needed
(iv) even, because all the even terms are even 1 A: 1 correct reason
or the 20th term is 134 needed
4.(a) () 1,23,5,6,10,15,30 2 A: 2 for all correct
A: 1 for at least 6 with no
extras
(i) [1,2,3,6 2 M: 1 for factors of 18
seen
A: 1
(b) 17,19, 23 1 A: 1 all needed
(c) 2r 1 A1
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Q. Answer Mark Additional Guidance
? (i) 23p 2
(i) (@)| 5 1 A:1
(b)| 80p 2 M: 1 for £9.20 seen or
16 x 5 seen
A1
6. (i) 14019 2
(ii) 1556562 2
(iii) 5589 3 M: 1 for 2 of 4600, 920
or 69
or 1 of 4860 or 729
M: 1 for all 3 or 2 of the
above
A:1
(iv) 284 2
7. (i) (@)| 7200 1 A:1
(b)| 90 2
(i) 8 x 900 is equal to 600 x 12 3 A: 1 for each
455 x 10 is greater than 9000 + 2
52 + 6° is less than 75% of 120
8. (i) 9 2 M: 1 for 54 seen
A1
(ii) 8 2 M: 1 for 64 seen
A1
9. (i) 3750mi 1 A:1
(i) |6.56m 1 A1
(i) | 2.05kg 1 A:1

S.A. 281171M03




Q. Answer Mark Additional Guidance
10 (@) |2 1 (A1
(b) |43 1 A1
) |83 1 A: 1
1. (i) . 1 A: 1
iy |13 2 | M:1foreither g or
Al
(i) |2 1 A: 1
12. () |16 1 A: 1
(ii) 14 2 M: 1 for 10 seen
A:1
13. 9 2 M: 1 for 2 of class is 15
people
A1
14. 5 2 A:1for1%and%
....... (allow g )
1% % A:1for2
; : ;
6.5 2 A:1for0.75
A:1for3.5and 6.5
33, .
1.25 2.25 0.75
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Q. Answer Mark Additional Guidance
/_/
15. (0 YA
14 T y—
12
10
A B
8
6 \/
4
2
—>
0 2 4 6 10 12 14 X
1 A: 1 point (5, 10) plotted
and quadrilateral
formed
(i) | line of symmetry drawn on A 1 A: 1
(i) | 12cm? 1 A:1
(iv) shape B drawn 2 A: 1 for orientation
A: 1 for position
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Q. Answer Mark Additional Guidance
16. (i) |36 2
(i) |80 1 A
(iii) 42 1 A:1
(iv) no, because Hannah saw 90 bluetits 1 A: 1 reason needed
compared to 42 that Jamila saw
17. (a) 2 A: 1 for 54 and 24
42 60 20
A:1for-3 and 15
54 | H18 | 7o | #3 |
....... . o ise
e 5 5
(b) |8 1 A:1
(c) ()| 11.5 1 A: 1
(ii)| the input numbers are odd 1 A:1
18. (a) | 14m 2 M:1for3.5+ 0.5+ 05 +
25+4+3
or4+3+4+3
A1
(b) 10m? 2 M: 1 for either 8 or 2
seen
A:1
(c) | approximately 15m? 1 A: 1 allow 13-17
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Answer

Mark

Additional Guidance

p= 150°
q = 60°
x = 96°

y= 45°

A:1forp
A:1forgqg
M: 1 for 84 seen
A: 1 for x

M: 1 for 180 — 45 —90

A:1fory

e —

> 3

A: 1 for C plotted such
that AC = 6¢cm
(allow 5.9-6.1 cm)

A: 1 for B plotted such
that AB = 6¢cm and
BC = 6cm (allow
5.9-6.1cm)

N.B. Band C can be

the other way around
and point B could be
plotted using a protractor
measuring angles of 60°
at each vertex or using
compasses to draw arcs
from both Aand C

21. () | 664000

A: 1

(i) 664

A: 1

(iii) 160

A: 1

22. (i) b=237

A: 1

(ii) c=11

(i) | d=40

A: 1

M: 1 for 2d = 80

A: 1

Total
L

100
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